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1 ZH EX TA4)—#L 34 39 73
2 201 FSEH Y 1IB%] 37 37 74
3 XE g FReEE = L 38 37 75
4 B OERA RiR 40 36 76
5 Il =B —a—FvERL 37 40 77
6 R 2 Iz B [E R 36 41 77
7 BF t#h= X 1[E%] 40 38 78
8 EH 2 TA4)—EL 40 38 78
9 INE BT Iz £ 39 39 78
10 AH i#Ex LA1o7)—> 39 39 78
11 %k RBRA sz B2 Fig 1 39 39 78
X His PEM 38 40 78
13 Bi# R EARIE 41 38 79
iR RB XEE 40 39 79
BH - ATV G 39 40 79
16 HM &R Iz B2 %g O 42 38 80
&N BEF Iz B2 41 39 80
Rl =& BA 39 41 80
X5 # IEEARF 38 42 80
HE EE J1)—2E LB 37 43 80
21 LT B= Fre e = 1L 43 38 81
Iz & H1)—2bEILERR 42 39 81
5H BrEaR 42 39 81
Hif &X FReEE = L 42 39 81
ki B EHIR 40 41 81
MR AE Inh& 40 41 81
mx =h EP-1es 40 41 81
g —= BASAY 39 42 81
ER ER BErEalR 36 45 81
30 HE E— f—2 &5 43 39 82
B % E3-1=1I 41 41 82
XEH 2 EP-1Es 41 41 82
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HAT Fkh L1 ] 40 42 82

BE D e 37 45 82

35 EE B8 FReEE = L 44 39 83

REE f£X Rt 41 42 83

iy = ImbE 41 42 83

FE = E ARk 41 42 83

FRE FNRE A=k 39 44 83

¥ B® LHIEH 38 45 83

41 WME BX FreBE = 1L 45 39 84

F FreEE = 1L 41 43 84

L Fns BARSAY 41 43 84

RtH KFE thlE 4 43 84

45 Mgk fE FREES L 44 41 85

43 EHF FreBE = 1L 44 41 85

g & Bk 42 43 85

BhE ER EP-1Es 41 44 85

It iE— Iz Btz b~ 39 46 85

2l EE E ARk 38 47 85

51 AE —A f—2 K5 47 39 86

HiEE EH IRz B2k, 46 40 86

WA BE Fre e = 1L 45 41 86

A ElL EFSXE 45 41 86

Ak Rkt FReEE = L 45 41 86

A =E FReEE = L 43 43 86

AEZE B I B AR SR 43 43 86

WE EZ I B AR 42 44 86

RE FE FreEE = 1L 42 44 86

F E— E ARk 42 44 86

R XE WmEER 41 45 86

62 FE BHE A ARk 45 42 87

B *E E AR 43 44 87

I Bk s = 1L 41 46 87
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65 BN s FreEE = L 45 43 88
FH FiE FReEE = 1L 44 44 88
67 AR =EB R ERE R 47 42 89
BTE &— =8/l 45 44 89
T BRX TA4)—EL 43 46 89
70 # BEE BrEER 44 46 90
=1 EX FReEE = L 44 46 90
MR bFEE FReEE = L 42 48 90
73 =R BT BHIR 46 45 91
FE ®H FreEE = 1L 42 49 91
75 HE = &R 48 44 92
H = FreEE = 1L 47 45 92
IR ILE FReEE= L 43 49 92
78 REIRT BEJT FReEE = L 54 41 95
FH X J1)—2EILERR 44 51 95
80 BAR EX BASAY 49 47 96
Hed fkx FreEE = L 46 50 96
82 wa FE IERRZF 49 48 97
83 hE {7 FReEE = L 52 46 98
84 i B FreBE = 1L 54 47 101
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R 1% RE 1&2A8 AARZA>
Ri5 %k Hi=
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